R -FRE-FEMRS-BRI1-TRR

2RS4 R1,5/26

A £15 B £15
Biga Bk L7Y— B L7)—
1(9:30 |[MAEAFA|BRAFEA| XA |RESE |TEIFAER
219:55 | KF44 ¥$4¢ FRE| [KF3E |FHIFA FTE
3[10:20 [MEEAEB|ERAEB| KF1| |ME3IFE |[FESEB| KM
4]10:45 |RREAFA|TEA4E [ER]| |KHIEFE [EHLSEB HE
105K 5 105 A28
5[11:20 | XFN4FE % RAFEABE| [BREIE [B3EA|TE
6]11:45 |MEAEB[ERIEB| TE| [KFI3E |TEIFA|ER
7[12:10 FRAE | XKF4F [ B | TEIEB|EHRIEB[ KA
1250 BAS=R
¢$$5I%?$IE
DIN—D(TGU =T RA L) {KEE3 S
HERORUTFRETE (FASRITEEDHTER)
-Elzls’rz;% IL—ILIZD>EYFET
REIIVTA—DRRIE. 2y T XU THRTY
A &5 B &15
Baga X ¥Jz L7Y— xt Bl LoY—
1(9:30 |RRAEAFA|ERAFA| XF| |HRESTE |TEIFAERL
2]9:55 | XF4E ?%4& BRAE| [KF3EFE |E#HI3FATE
3|10:20 |FMAEAFEB|EH4EB| XF0| |HESE [FEIEB| XM
4]110:45 |RREAFA|TEAE [ ER| | KFMIEFE [EHLIEB HE
105K 5 105K 28
5[11:20 [ KFN4F % BAFEAN BRE| |[HEIE [BRIFA|TE
6]11:45 |MEAFEB[ERAFEB| TE| [KFI3FE |TEIFA|ERL
711210 | WE  [KF4FE | E#| [TESEB|ELIFEB|ME
1250 PBASR
EP%E/I%$IE

0 YN—D(SU =G B4 L) KBRS

BRORVFREFRE FASKITEEDHTERR)
Elzﬁnnn)lx JLIZD-EYFET
REIIVTA—DFRIE. BT XU THRTY

A &5 B &5
b *t $jz L7Y— * Bk L7Y—
1(9:30 [MEAFA|ERAFEA| XFI| [MESE ?ﬁaEA R
2]9:55 | KFn44F $ﬁ4¢ BRE| | RFMIFE |FHRIFATF
3]10:20 [RRAEAEB|FEMRAEB| XF| |MESE ?%EB X#0
41045 |REAFEA[TELE | B#| [KFSE |EHIEBRAE
105K 3E 101K 3E
5[11:20 [ KFN4 & % RAFEARE|] [MREE [ER3FEA[TE
6|11:45 [MREAEB|EMRAEB| FE| | RM3FE ?%EA R
7[12:10 FE | XKF4E |E#| |TEIEB[EHRIEB(RE
1250 BEHZE=
¢$¢5I§$IE
DIN—D(TU =T BA L) KEA3S
BREORVFRETEFASKICEEHTER)
'EIZFTmJK)l/ LIZD-EYFET
RFIWT—ORBIE. #YyT XU THHATY
A &5 B &5
Biga X $Jz Loy— xt B Lo—
1]9:30 |MEAFA[ERIFA| XF| [MRESE =F§3EA 1)
219:55 [ KFn44 ?%4& FAE| [KFI3FE [EHRIFEATE
3[10:20 [RREAFEB|ERAEB] XF| [MEIE =F§3$B X#0
4]10:45 |MEAFA[TELF | EH| [KFSE |EHI3EBRMAE
105K 58 105K 5
511:20 | KF4F |FBRAFAME| |HEIE |FHERIFA|TE
6|11:45 [MEAFEB|ELRIFEB| FE RI3EFE [FEIFA|FHL
711210 | BRAE [ KF4FE [F#| |TEIEB|FEHRIEB[MAE
1250 BEA=R
EP%EII%%IE

-10 YN—D(S =T B4 L) {KEE3 S

BRORVFREFE (FARKITEEHTERE)
'Elﬁfmnz)lx JLIZD-EYFET
RFIWT—OFBIE. #YyTXYITHHATY



